H o & 5 &

SIEHFE6 A1 2AICEM LR 6 - 7 LS BB AR T (55 1 EAHE) 2B 28 MWOEHE
(I 2 Bl 72130 (REV AL — O B IOV CIREMI Tl e < @40 1200, BITRO Bl
DEBVAEET S,

PLE, BABOFEE L TAREZIER L, YEHENTDLEIT I,

4 FN064£07 H 02 H

FEEE R WARURRTRSRAAE1ITH1IO0 -1

KA EH AT A ST

BTG R RAIERESE TR &
ZikE EFT UAL R R EET R 6 5 — 3

K4 npedtseskiatt

RIS I 1

-1- [E Az BE s HE i =



NAWA

il

*

THEXSy « T - FER - 5 B % FREAL K B G EHAMm & M| T2 (BB
T AR
[4&Fn6 4]
= 1 73, 893, 736
AR & E T
= 1 44, 573, 606
3B HAKE T
= 1 44, 573, 606
I8 K E] T B K IE B 4 K [EES T B
A - 7 o7 Km
] 365 120, 380 43,938, 700
FEAK[E] WIEIEER
H 10 51, 375 513, 750
EERBE M3 T FH A
5 - 4E 2 60, 578 121, 156
BRET
= 1 2, 364, 290
T B T
= 1 2, 364, 290
TR (A HENT GROER#E D)
m2 10, 000 170.9 1, 709, 000
W% (GEAEMILST) ML
t 15 43, 686 655, 290
SRET
= 1 2,959, 990
— RS L
= 1 1, 447, 640
TR B 1L Al A W3k, o =2, 5m3, =
¥i7° 794+
[B55] fFEXSA
] 20 17, 348 346, 960
TR B 1L Al AT W3k, o =2, 5m3, =
¥i7° 794+
[&5] 1FEEX4SB
] 20 17, 853 357, 060

Ao BE A5 2 i =




NAWA

i

*

THEXSy « T - FER - 5 B % FREAL K B G EHAMm & M| T2 (BB
TR B 1L Al AT RS, Gy AE2. 5m3,
i7" 794+
[85] fFE¥ERSASC
] 20 19, 328 386, 560
TR B 1L Al AT RS, Gy AE2. 5m3,
i7" 794+
[&55] fFEEXASD
] 20 17, 853 357, 060
BAERA I L
= 1 1, 395, 600
R B 1L Al AT RSk, vy AR2. 5m3
[B55] fFEEXSA
] 20 16, 698 333, 960
R B 1L Al AT RSk, vy AR2. 5m3
[&5] 1FEEX4SB
] 20 17, 202 344, 040
TR B 1L Al AT RS, iy AR2. 5m3
[55] fFE¥ExSASC
] 20 18, 678 373, 560
TR B 1L Al AT RSk, iy AR2. 5m3
[&55] fFEEXASD
] 20 17, 202 344, 040
=X | all VRN LtEs/ 8y 7 Sadh
t 10 0 0
FEt R
= 1 116, 750
1A - (EEE HEE
E¥X S C
] 10 4, 344 43, 440
FEREAN V=) G B LB A AT
E¥X S C
] 10 7,331 73,310
NSV UEL N
= 1 20, 032, 690
JRRSLERERE T
(Bf)
= 1 10, 191, 150
IYSY(E=S WIEIEER
A 300 25, 687 7,706, 100

Ao BE A5 2 i =




NAWA

il

*

THEXSy « T - FER - 5 B % LFEAL B G EHAMm #H T2 (BB
IYSY(E=S Ny hgiEEs  (LFEA-0. 45m3)
535 30 8, 623 258, 690
IYSY(E=S §u7 Ny gl (10t)
535 60 10, 018 601, 080
IS §u7 Vv iEER (4t)
535 120 6, 565 787, 800
IS §u7 Vv iEER (2t)
535 120 5,781 693, 720
T RAULED, 1B 2% 4 A+
[&5]
535 20 7,188 143, 760
IRV ESE T
(&)
= 1 9, 841, 540
IYSY(E=S WIEEER
A 200 38, 531 7,706, 200
Iy SY(E=S Ny rgiEEs (LFEA-0. 45m3)
535 20 11, 135 222, 700
IYSY(E= ¥ 07" hyriEER (10t)
535 40 12, 144 485, 760
IYSY(E=S §u7 Ny g (4t)
535 80 8, 696 695, 680
SN ¥ 07 Vv iEER (2t)
535 80 7,912 632, 960
T RAEULED, B 2% 4 A+
[&5]
535 10 9,824 98, 240
G an
= 1 3, 963, 160
RME T
= 1 3, 963, 160

Ao BE A5 2 i =




HOfl =%

THEXSy « T - FER - 5 B % FREAL K B G EHAMm & M| TZ (BB
AW B A
(B#)
= 1 1,051, 920
R EE R B B
(B#)
= 1 929, 640
R EE R B A
(&)
= 1 1, 051, 960
R EE R B B
(&)
= 1 929, 640
[EEPIE % ¢
= 1 73, 893, 736
B
= 1 4, 066, 741
HIBGERE (FEH L)
= 1 4, 066, 741
Wi
= 1 77,960, 477
B
= 1 33, 356, 210
T AT
= 1 111, 316, 687
— R
= 1 18, 743, 313
TS
= 1 130, 060, 000
THEBLFH Y %H
= 1 13, 006, 000
TH#EG
= 1 143, 066, 000

(] - xzid BE A T i




H o & 5 &

SIEHFE6 A1 2AICEM LR 6 - 7 LS BB AR T (55 1 EAHE) 2B 28 MWOEHE
(I 2 Bl 72130 (REV AL — O B IOV CIREMI Tl e < @40 1200, BITRO Bl
DEBVAEET S,

PLE, BABOFEE L TAREZIER L, YEHENTDLEIT I,

4 FN064£07 H 02 H

FEEE R WARURRTRSRAAE1ITH1IO0 -1

KA EH AT A ST

BTG R RAIERESE TR &
ZikE EFT UAL R R EET R 6 5 — 3

K4 npedtseskiatt

RIS I 1

-1- [E Az BE s HE i =



NAWA

il

*

THEXSy « T - FER - 5 B % FREAL K B G EHAMm & M| T2 (BB
T AR
[4&Fn 7 4£5]
= 1 73, 893, 736
AR & E T
= 1 44, 573, 606
3B HAKE T
= 1 44, 573, 606
I8 K E] T B K IE B 4 K [EES T B
A - 7 o7 Km
] 365 120, 380 43,938, 700
FEAK[E] WIEIEER
H 10 51, 375 513, 750
EERBE M3 T FH A
5 - 4E 2 60, 578 121, 156
BRET
= 1 2, 364, 290
T B T
= 1 2, 364, 290
TR (A HENT GROER#E D)
m2 10, 000 170.9 1, 709, 000
W% (GEAEMILST) ML
t 15 43, 686 655, 290
SRET
= 1 2,959, 990
— RS L
= 1 1, 447, 640
TR B 1L Al A W3k, o =2, 5m3, =
¥i7° 794+
[B55] fFEXSA
] 20 17, 348 346, 960
TR B 1L Al AT W3k, o =2, 5m3, =
¥i7° 794+
[&5] 1FEEX4SB
] 20 17, 853 357, 060

Ao BE A5 2 i =




NAWA

i

*

THEXSy « T - FER - 5 B % FREAL K B G EHAMm & M| T2 (BB
TR B 1L Al AT RS, Gy AE2. 5m3,
i7" 794+
[85] fFE¥ERSASC
] 20 19, 328 386, 560
TR B 1L Al AT RS, Gy AE2. 5m3,
i7" 794+
[&55] fFEEXASD
] 20 17, 853 357, 060
BAERA I L
= 1 1, 395, 600
R B 1L Al AT RSk, vy AR2. 5m3
[B55] fFEEXSA
] 20 16, 698 333, 960
R B 1L Al AT RSk, vy AR2. 5m3
[&5] 1FEEX4SB
] 20 17, 202 344, 040
TR B 1L Al AT RS, iy AR2. 5m3
[55] fFE¥ExSASC
] 20 18, 678 373, 560
TR B 1L Al AT RSk, iy AR2. 5m3
[&55] fFEEXASD
] 20 17, 202 344, 040
=X | all VRN LtEs/ 8y 7 Sadh
t 10 0 0
FEt R
= 1 116, 750
1A - (EEE HEE
E¥X S C
] 10 4, 344 43, 440
FEREAN V=) G B LB A AT
E¥X S C
] 10 7,331 73,310
NSV UEL N
= 1 20, 032, 690
JRRSLERERE T
(Bf)
= 1 10, 191, 150
IYSY(E=S WIEIEER
A 300 25, 687 7,706, 100

Ao BE A5 2 i =




NAWA

il

*

THEXSy « T - FER - 5 B % LFEAL B G EHAMm #H T2 (BB
IYSY(E=S Ny hgiEEs  (LFEA-0. 45m3)
535 30 8, 623 258, 690
IYSY(E=S §u7 Ny gl (10t)
535 60 10, 018 601, 080
IS §u7 Vv iEER (4t)
535 120 6, 565 787, 800
IS §u7 Vv iEER (2t)
535 120 5,781 693, 720
T RAULED, 1B 2% 4 A+
[&5]
535 20 7,188 143, 760
IRV ESE T
(&)
= 1 9, 841, 540
IYSY(E=S WIEEER
A 200 38, 531 7,706, 200
Iy SY(E=S Ny rgiEEs (LFEA-0. 45m3)
535 20 11, 135 222, 700
IYSY(E= ¥ 07" hyriEER (10t)
535 40 12, 144 485, 760
IYSY(E=S §u7 Ny g (4t)
535 80 8, 696 695, 680
SN ¥ 07 Vv iEER (2t)
535 80 7,912 632, 960
T RAEULED, B 2% 4 A+
[&5]
535 10 9,824 98, 240
G an
= 1 3, 963, 160
RME T
= 1 3, 963, 160

Ao BE A5 2 i =




HOfl =%

THEXSy « T - FER - 5 B % FREAL K B G EHAMm & M| TZ (BB
AW B A
(B#)
= 1 1,051, 920
R EE R B B
(B#)
= 1 929, 640
R EE R B A
(&)
= 1 1, 051, 960
R EE R B B
(&)
= 1 929, 640
[EEPIE % ¢
= 1 73, 893, 736
B
= 1 4, 066, 741
HIBGERE (FEH L)
= 1 4, 066, 741
Wi
= 1 77,960, 477
B
= 1 33, 356, 210
T AT
= 1 111, 316, 687
— R
= 1 18, 743, 313
TS
= 1 130, 060, 000
THEBLFH Y %H
= 1 13, 006, 000
TH#EG
= 1 143, 066, 000

(] - xzid BE A T i




